



St. Louis County, Minnesota

Date of Report: 5/14/2025 6:10:43 PM

General Details

 Parcel ID:
 380-0010-05800

 Document:
 Abstract - 01252615

 Document Date:
 12/12/2014

Legal Description Details

Plat Name: GRAND LAKE

Section Township Range Lot Block

28 51 16 - -

Description: Beginning at the Northwest corner of Govt Lot 1 (in deeds referred to as NW 1/4 of NW 1/4) thence running South 29

rods from said corner and following the shoreline of GRAND LAKE to a point at the Meander Corner; thence running East 55 rods; thence running North to Section line; thence running West on Section line to the Northwest corner of said Govt Lot 1 EXCEPT beginning at the Northwest corner of Govt Lot 1 running South 29 rods from said corner and following the shoreline of GRAND LAKE to the point at the Meander Corner, which point shall be the Point of Beginning; thence running Easterly 200 feet thence to a point; thence running Northerly a distance of 100 feet to a point; thence Westerly a distance of 200 feet to the shore of GRAND LAKE; thence Southwesterly along said

shoreline to the Point of Beginning.

Taxpayer Details

Taxpayer Name HENRIKSEN SHANE K & AMY L

and Address: 6660 DUNCAN RD

SAGINAW MN 55779

Owner Details

Owner Name HENRIKSEN AMY L
Owner Name HENRIKSEN SHANE K

Payable 2025 Tax Summary

2025 - Net Tax \$7,105.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$7,134.00

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,567.00	2025 - 2nd Half Tax	\$3,567.00	2025 - 1st Half Tax Due	\$3,567.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$3,567.00	
2025 - 1st Half Due	\$3,567.00	2025 - 2nd Half Due	\$3,567.00	2025 - Total Due	\$7,134.00	

Parcel Details

Property Address: 6660 DUNCAN RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: HENRIKSEN, SHANE K & AMY L

	Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$258,400	\$394,800	\$653,200	\$0	\$0	-		
	Total:	\$258,400	\$394,800	\$653,200	\$0	\$0	6915		





St. Louis County, Minnesota

Date of Report: 5/14/2025 6:10:43 PM

Land Details

Deeded Acres: 9.54 Waterfront: **GRAND** Water Front Feet: 398.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: M - MOUND

_ot Width:	0.00							
ot Depth:	0.00							
The dimensions shown are n	ot guaranteed to be s	urvey quality. A	Additional lot	information can be	found at			
https://apps.stlouiscountymn.	gov/webPlatsIframe/f					ax@stlouiscountymn.gov.		
		•		etails (HOUSE				
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft			Basement Finish	Style Code & Desc.		
HOUSE	1970	2,87		2,876	U Quality / 0 Ft ²	RAM - RAMBL/RNCH		
Segment	Story	Width	Length	Area	Foundat			
BAS	1	0	0	2,876	BASEMENT WITH EXTE			
DK	1	8	12	96	PIERS AND FO			
OP	1	10	28	280	PIERS AND FO			
Bath Count	Bedroom Co		Room C	ount	Fireplace Count	HVAC		
1.75 BATHS	3 BEDROOM	ИS 	-		2	CENTRAL, ELECTRIC		
		Improven	nent 2 Det	ails (AG IRRE	G)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
GARAGE	2016	1,38	88	1,388	-	ATTACHED		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	0	0	1,388	FOUNDATION			
		Impro	vement 3	Details (DG)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
GARAGE	2015	2,10	00	2,100	-	DETACHED		
Segment	Story	Width	Width Length Area		Foundat	ion		
BAS	1	42	50	2,100	-			
		Improven	nent 4 Det	tails (DG 24X3	0)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
GARAGE	1964	72	0	720	-	DETACHED		
Segment	Story	Width	Width Length		Foundat	ion		
BAS	1	24	30	720	FLOATING	SLAB		
		Improven	nent 5 Det	tails (SLEEPE	R)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	1960	44	8	448	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	16	28	448	FOUNDA ⁻	ΓΙΟΝ		
		Improven	nent 6 Det	ails (QUONSE	T)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	32		320	-	- -		
Segment	Story	Width	Length	Area	Foundat	ion		
ocginent	0.0.,							





St. Louis County, Minnesota

Date of Report: 5/14/2025 6:10:43 PM

		Improve	ment 7 Details	(14X15 ST)					
Improvement Type Year Built		Main Flo	Main Floor Ft ² Gross Area Ft ²		Basement Finish		yle Code & Desc.		
STORAGE BUILDING 0		21	210 210		-		-		
Segmer	nt Stor	y Width	Length	Area	Found	dation			
BAS	1	14	14 15 210		POST ON	POST ON GROUND			
		Improve	ment 8 Details	(ST 12X18)					
Improvement Type	e Year Built	-		s Area Ft ²	Basement Finish	St	yle Code & Desc.		
STORAGE BUILDIN	IG 0	21	6	216	-		-		
Segmen	nt Stor	y Width	Length	Area	Found	dation			
BAS	1	12	18	216	POST ON	GROUND)		
		Improve	ment 9 Details	s (ST 8X10)					
Improvement Type	e Year Built	•		s Area Ft ²	Basement Finish Style Code & De				
STORAGE BUILDIN	IG 0	80)	80	-		-		
Segmen	nt Stor	y Width	Length	Area	Found	Foundation			
BAS	1	8	10	80	POST ON	GROUND)		
		Sales Reported	to the St. Lou	is County Au	ditor				
Sal	e Date		Purchase Pric	e	С	RV Numb	er		
12/2014			\$382,000			208998			
02	2/2012		\$175,000			196190			
		A	ssessment Hi	story					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Bld EM	g Net Tax		
	201	\$258,400	\$411,600	\$670,00	0 \$0	\$0			
2024 Payable 2025	Total	\$258,400	\$411,600	\$670,00	0 \$0	\$0	7,125.00		
	201	\$216,600	\$338,800	\$555,40	0 \$0	\$0	-		
2023 Payable 2024	Total	\$216,600	\$338,800	\$555,40	0 \$0	\$0	5,693.00		
	201	\$195,100	\$342,200	\$537,30	0 \$0	\$0	-		
2022 Payable 2023	Total	\$195,100	\$342,200	\$537,30	0 \$0	\$0	5,466.00		
	201	\$164,400	\$286,700	\$451,10	0 \$0	\$0) -		
2021 Payable 2022	Total	\$164,400	\$286,700	\$451,10	0 \$0	\$0	4,511.00		
			 Γax Detail Hist						
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	•	Taxable Bu		Total Taxable M		
2024	\$6,065.00	\$25.00	\$6,090.00	\$216,60	0 \$338,8	00	\$555,400		
2023	\$6,113.00	\$25.00	\$6,138.00	\$195,10	0 \$342,2	\$342,200 \$5			
2022	\$5,707.00	\$25.00	\$5,732.00	\$164,40	0 \$286,7	00	\$451,100		





St. Louis County, Minnesota

Date of Report: 5/14/2025 6:10:43 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.